]

A

‘.{{{‘1‘ T FrrE T FErE T e Il;.: o r‘:‘:{{‘:{{,‘:{{r{rr b g i A A A A kR A A A R A AN AL AR A AL AL L R L AL A b A AA AN A A A A AR A A
t%%ﬁm\.*.*m-wﬁ*ﬁ*-*.w»wﬁ\-w.*rﬂﬂﬁﬁﬁ\-n-5‘{ﬁ:ﬁﬁ{ﬁﬁﬁh‘fﬂﬁﬁhﬁﬂ A A A A A A A A
B R R R Y
LA e N AN 09044444044444
T R TR T T R

e K
50— . Y
ey % T i - 2 L
R APIYIY e he TN
a4 =
R () foas plal NI

RN
ddaa] 7 o W T
RRINERY WP LAl (5 0 Al
BN i e R
SRER P R
I ELOR T e REANEN
SN e AR
RN 59444
PR
B ) TR
PRYINNY - * e
AR a add s
BN J u J el
AN ey
SRR RRR
BERER ol dow ausls 42 . & R
TEREN 1o & KW | HWIN L TP R
R = J AR

RN
ERT AR
NI R
R \YAY Jl S
RN \\ j dadad
R e
R e
S N
e RN
VR aag gy
PN — i AR
WA ' “\ R
PPN PR
R TR S : AR
AN ‘

I S™ W33 § (Il (wiago PR
a3 - SIERNE)
SU SR
VIR ( ‘ Y q Y .6’ ) PRIR
FWRNENY PR
v AR
VYT \_ . IRV
BER S
WYY Raada
WERRVRY e
WA KA
B AR
MY R
M e T PR
TR FE) o o i T Sy
S R
Ty Is us';.i A ol 4 2L PR
PR reposs PR
PN 495454
PRI —_— i RN
PR SRR T AR
SR IRN e
BRI RN
FEERH Pve v
TRRRIN R
R R
R 54444s)
RN R
RRRERRN Ky
RPN R
SR IR
W SV lga0 0 ylowi 3 3l ¢ loial dlgo ylgic RS
RITH e 1R
GG ag Oy =1 = . s i . LS
EEE;EEEE o _,Ln.ul- L a Jtm _ﬂ J| B Slasy u.rl:t..-.n‘ af g0 Sy EEEE‘,E‘E%
T T \ v oaadi g coges by | RN
PR LY o Shp GGG
TRV PR
g asad] ’ (R Te - ] 955553
S : S
TR Y. A Y. Sl Sl g Kealiige 5 ¥ 4344
S5 R
R [ | ey T S
BN VR
= = . = s “' ‘
RN - i "' Tk ol RN
Ty : AR
R 1Y 1 Y. b iglbied gpllescalial # BRI
PANINEN PRRRRRN
S a
Gda] e
RN S
WRRRYY AR
RN \ NN
8 RN
geddy “"}\9 J L ol Wil 44940
R AN
133344 S aaa49)
RRE SN
, AR
Ay | PR o L T A L | ARSI
RRRNN et Yo o Cypile R
PR PR
R R
AR Loy
h‘“‘}’ W e WL W W e R W L W L LT, LW W L RS L ‘"f'!""!'F'FT'FF"I’*""’"TTTT'FTFTT"!"'FTFF'I'FF"*"F"""I'TT'I"I'FF'I'TFT"F""“\"‘“\
o e DL
R e A A A A A AR S ey
B T R
ErRM R RN R R R b e R R P R R e R R e R e e R R e e e e e e e e R R R R R e e e e R R R e b e e e R e )



} azmino APINYIY ((e090E) LounadSl 3l

| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

11-
12-
13-
14-
15-

The book was ~=--—e-es by a panel of experts, working in conjunction with the publisher.

1) revealed 2) compiled 3) intervened 4) attributed

In Canada, drug users belong to high-risk insurance -----—--- |

1) entities 2) {eatures 3) categories 4) structures

The victim was able to give the police an - -- description of her attacker.

1) accurate 2) ultimate 3) identical 4) equivalent |
The government passed a law to promote the ——-—-- of blacks into white South African
society.

1) integration 2) foundation 3) coordination 4) adaptation

Small businesses often have great difficulty in ---------- credit from banks.

1) detecting 2) obtaining 3) pursuing 4) depositing
Feminists say that the book was written from a male : -

1) objective 2) inspection 3) perspective 4) presumption
Violence is just one of the many problems -—----— in city life.

1) explicit 2) empirical 3) available 4) inherent

Legal requirements state that working hours must not ---—--——- 42 hours a week.

1) assign 2) exceed 3) utilize 4) undertake

The Highways Department is responsible for the construction and ----——— of bridges and
roads. :

T) equipment 2) adjustment ~ 3) manipulation 4) maintenance
Maxwell’s responsibilities -----—-— yours, so you will be sharing some of the work.

1) overlap 2) affect 3) identify 4) coincide

PART B: Grammar

Directions: Read the following passage and decide which choice (j ), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

Since water is the basis of life, (11) --=----m-- the greater part of the tissues of all living things, the
crucial problem of desert animals is te survive ¥n a world (12) ---------- sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at frequent
intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

1) composes 2) composing 3) it composes 4) that composing

1) which 2) that 3) there | 4) ‘_-?.rhe,re .

1) is to absorb 2) of absorbing 3) that 1s to absorb 4) is absorbing

1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

1) for 2) from 3) upon 4) without



| Part C, Reading Comprehension

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4). Then mark
in on your answer sheet.

PASSAGE I:

Ductility is the capacity of a material to deform permanently in response to stress.
Most common steels, for example, are quite ductile and hence can accommodate local
stress concentrations. Brittle materials, such as glass, cannot accommodate

concentrations of stress because they lack ductility, they, therefore, fracture rather
casily.

When a material specimen is stressed, it deforms elastically (i.e., recoverably) at first;
thereafter, deformation becomes permanent. A cylinder of steel, for example, may
“neck” (assume an hourglass shape) in response to stress. If the material is ductile,
this local deformation is permanent, and the test piece does not assume its former
shape if the stress is removed. With sufficiently high stress, fracture occurs.

Ductility can be expressed as strain, reduction in area, or toughness. Strain, or change
in length per unit length, was explained earlier. Reduction in area (change in area per
unit area) may be measured, for example, in the test section of a steel bar that necks
when stressed. Toughness measures the amount of energy required to deform a piece
of material permanently. Toughness is a desirable material property in that it permits a
component to deform plastically, rather than crack and perhaps fracture.

16. The word “permanently” in line 1 is closest in meaning to ~—-———e-— -,

1) everlastingly 2) continually 3) ultimately 4) extraneously
17. According to the paragraph 1, material§ that break easily -
1) lack ductility 2) are quite ductile

3) include metals that deform in response to stress  4) can bear local concentrations of stress
18. Which of the following words has been NOT been defined in the passage?

1) neck 2) brittle 3) strain 4) elasticity
19. The word “assume” in line 9 is closest in meaning to ;
1) imagine 2) absorb 3) form 4) take

20. The passage states that toughness is a favorable feature because it makes it possible for a
component to

1) crack 2} deform 3) fracture 4) change in length
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PASSAGE 1I:

While the property temperature is familiar, the actual definition of temperature is not
a simple matter. From numerous examples in everyday life, people associate the term
with an amount of hotness or coldness, as perceived by the senses. There are cases,
however, in which objects that are at the same temperature do not seem to the senses
to be so, because of the material or texture of the object being examinedﬁherafmc, it
is appropriate to utilize the concept of equality of temperature in the following
manner. Let two objects 4 and B be brought into thermal communication with each
other, and let measurements of appropriate properties, such as electrical resistance,
length (if a solid body), height (if a liquid column), or other observable characteristics
be made. It will be noted that these properties being measured will change with time
in. both 4 and B after the two objects are brought into communication. These observed
changes eventually stop; when no further changes are detected, the two objects 4 and
B are in thermal equilibrium with one another and are therefore said to be at the same
temperature. Now repeat this process with objects A and C, where A4 is the same object
as before but C is different. Suppose that no property changes are detected in either
object from the beginning of their being brought into communication, even over a
long period of time. One can then conclude not only that A4 and C are at the same
temperature but also that A is at the same temperature as before, which is the same
temperature as object B.: Therefore, objects B and C must also be at the same
temperature. This principle of temperature measurement, in which object 4 is the
thermometer, is seen to be a fundamental principle or law in the study of
thermodynamics. Since it logically precedes the principle of the conservation of

energy, which is termed the first law, this principle has come to be named the zeroth
law of thermodynamics.

21. What does the passage mainly discuss?
1) An important principle 2) Thermal cummunical'fﬂn
3) The concept of equality of temperature 4) Temperature as perceived by the senses
22. Objects A and B are said to be in a state of thermal equilibrium when -
1) no more changes can be located
2) they are brought into communication
3) the properties cited in the passage can no longer be observed
4) measurement of properties such as length etc. is made possible
23. The word “their” in line 16 refers to —---

1Y)Aand B 2YAand C
3)AB,and C 4) A before and after some change
24. The word “ precedes” in line 22 is closest in meaning to -— - *
1) underlines 2) engenders 3) gives rise to 4) comes prior 1o

25. What is the tone of the passage? | +
1) Critical 2) Cautionary 3) Explanatory 4) Disparaging
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PASSAGE III :

Sand-casting is widely used for making cast-iron and steel parts of medium to large

size in which surface smoothness and dimensional precision are not of primary
importance.

The first step in any casting operation is to form a mold that has the shape of the part
to be made. In many processes, a pattern of the part 1s made of some material such as
wood, metal, wax, or polystyrene, and refractory molding material is formed around
this. For example, in greensand-casting, sand combined with a binder such as water
and clay is packed around a pattern to form the mold. The pattern is removed, and on
top of the cavity is placed a similar sand mold containing a passage (called a gate)

-through which the metal flows into the mold. The mold is designed so that
solidification of the casting begins far from the gate and advances toward it, so that
“molten metal in the gate can flow in tg compensate for the shrinkage that accompanies
" solidification. Sometimes additional spaces, called risers, are added to the casting to
- provide reservoirs to feed this shrinkage. After solidification is complete, the sand is
removed from the casting, and the gate is cut off. [f cavities are intended to be left in
the casting—for example; to form a hollow part—sand shapes called cores are made
and suspended in the casting cavity before the metal is poured.

The rhetorical purpose of the passage is to

1) present a process order 2) offer solution to a problem

3) describe something physically 4) define a new model in sand-casting
The word “this” in line 8 refers to A

1) part 2) process 3) pattern 4) material
According to the passage, which of the following is a “binder”?

1) Mold 2) Wood 3) Water 4) Polystyrene

Which of the following is TRUE about “gate” as it is described in the passage?

1) It should temporarily be kept away when solidification of the casting begins.

2) It is to be removed from the metal when it flows into the mold.

3) It is similar to a sand mold.

4} It is a passageway

The word “compensate” in line 12 is closest in meaning to ——-------——,

1) accommodate 2) consolidate 3) atone 4) suffice
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